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Section 1 - Paperl-English Language
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1) Select the correct option.
Heis first boy from the class to participate in
the race.

A) no article

m

a
an
D) the

9]

)
)
)
)

2) Find the most appropriate opposite meaning word:
FLAGITIOUS

A) Ignorant
B) Vapid

C) Innocent
D) Frivolous

3) What is the plural form of Deer?

A
B
C
D

Deeres
Deeris
Deer
Deer's

)
)
)
)

4) Select the correct form of verb from the given options.
The weather report today at six o'clock in Jammu is, heavy

A) snows

B) snow

C) snowed

D) would snow

5) Find the most appropriate opposite meaning word:
DEAR

Read the following passage and answer the questions
that follow:

Chess Middle Game

The middlegame is the part of the game which starts after
the opening. There is no clear line between the opening
and the middlegame, but typically the middlegame will
start when most pieces have been developed. (Similarly,
there is no clear transition from the middlegame to the
endgame; see start of the endgame.) Because the
opening theory has ended, players have to form plans
based on the features of the position, and atthe same time
take into account the tactical possibilities of the position.
The middlegame is the phase in which most combinations
occur. Combinations are a series of tactical moves
executed to achieve some gain. Middlegame
combinations are often connected with an attack against
the opponent's king. Some typical patterns have their own
names; for example, the Boden's Mate or the Lasker—
Bauer combination. Specific plans or strategic themes will
often arise from particular groups of openings which resuit
in a specific type of pawn structure. An example is the
minority attack, which is the attack of queenside pawns
against an opponent who has more pawns on the
queenside. The study of openings is therefore connected
to the preparation of plans that are typical of the resulting
middlegames. Another important strategic question in the
middlegame is whether and how to reduce material and
transition into an endgame (i.e. simplify). Minor material
advantages can generally be transformed into victory only
in an endgame, and therefore the stronger side must
choose an appropriate way to achieve an ending. Not
every reduction of material is good for this purpose; for
example, if one side keeps a light-squared bishop and the
opponent has a dark-squared one, the transformation into
a bishops and pawns ending is usually advantageous for
the weaker side only, because an endgame with bishops
on opposite colors is likely to be a draw, even with an
advantage of a pawn, or sometimes even with a two-pawn
advantage.

6) What is the purpose of the Middle Game?

A) Checkmate the opponent king
B) Promote the weaker pieces
C) Develop the pieces

)

A) Despised D) Plan the attack on the opponent king
B) Esteemed

C) Endeared

D) Cherished T h f | d I
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7) Planning during the middle game is directly connected
to which of the following?

A) Strategic opening themes
B) Study of the openings
C) Pawn structure

)

swemame ] €CHOTWC

8) What is Boden's mate?

A) To draw tactics of the weaker side
B) An end game strategy
C) A tactical move

D) A strategy to reduce middle game pieces

9) Players can gain some advantage during the middle
game by using

A) combination or tactical moves
B) minor material advantage
C) the minority attack

)

D) the queenside pawn

10) When does the Middle Game start?

A) When the pieces have been developed

B) When the players have exhausted the opening game
moves

C) When the bishop is in the light coloured square
D) When the mlno-aneces have an advantage

“echofworid.in
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Section 2 - Paperl-Education and General Awareness
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11) Which of the following schemes was set up for
providing quality education to talented rural children?

A) Saakshar Bharat Scheme

B) Rashtriya Madhyamik Shiksha Abhiyan
C) Universal Primary Education Scheme
D) Model School Scheme

11) @9 6QIRRI AUQ 6896 R1E FIeR g IR Ja
621915 6991 IR FRAIRERI?

A) AIFQ VIS G

B) aiqia clifie d81 a@ale

C) gfedin giRenal 1geaas da
D) clsen am @

12) Which of the following concepts was proposed by
Kothari Comission when it stated that, “Each school
should be attended by all children in the neighbourhood
irrespective of caste, creed, community, religion,
economic condition or social status, so there would be no
segregation schools.™?

A) Secondary School

B) Neighbourhood School
C) Home School

D) Community School

12) GOFIQ 606 ARERIE 6101 FALR FIal JARS AR
gl QIFI A6L @ " g60e GRUIRE AINER 491 A9 SRR 1B,
e, gL, TR 29 2R ANER AN FR6aT6R 6Q0Ig
QIR AIGER, AL FIA A0 ARG ARG FHUIFAANS AFL
IR ?

A) arifie gm

B) 6qqag ¢ 9n
C) s2iql gm
D) @74ad am

== 1 r 1 1 1

13) Which of the following gases is commonly known as
laughing gas?

A) Sulphur dioxide
B) Carbon dioxide
C) Sodium oxide

)

D) Nitrous oxide

13) GYAIQ 688 U AVIRE VIS ATF GUIY BIES TFTF?

A) dRTe CRAFIEE
B) a@ieqi),

C) eaiBan agiae
D) clpgq 2giee

14) The phrase 'Aaya Ram Gaya Ram' gave a new law to
the Indian Constitution, named as:

A) Anti-Incumbency law
B) Anti-Corruption Law
C) Anti-Factionalism law
D) Anti-Defection law

14) "gligl Qe 9Rl AN QT QIRGTL RIS 9@ GBI RS
69REA, GIR1 6RAF:

A) 218-099647 @

B) z19-co09g @

C) 2I8-TIga IR R

)
)
)
D) 21§-Gexraas @

15) Which of the following options was identified as the
biggest challenge for the achievement of the goal of
Education For All (EFA) by 20157

A) Access and enrolment for children
B) Shortage of qualified teachers

C) Wastage and stagnation of learning
D) Shortage of infrastructure and books
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15) QAR 6998 2015 6 YgRde TQ IR (AITI)ER
AAIARINER A OIQ 92 2L 691R §96 FAUAIRAMI?

A) 9624 9Q° SRR RS

B) 6ai0y 9w &aIQ

C) aigea 9e° 90!

D) @& 9e° @@ e9Ia AR
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Section 3 - Paperl-Reasoning
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16) In a certain code language MOUSE is written as
HVXRP. How is EAGLE written in that code language?

A) HOJDH
B) FMHBF
C) ELGAE
D) GNICG

16) Y@ G408 AEweR @@I6Q MOUSE @ HVXRP 69
ERHICIREN | 69F QUTIEE EAGLE @& 6ndide ?

A) HOJDH
B) FMHBF
C) ELGAE
D) GNICG

17) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il.

4, if the question can't be answered at all.
At what time did the train leave the platform yesterday ?
I. The train is regularly late on Sundays.

Il. The scheduled arrival is at 10 : 20 am.

sgom2
N oW s

Eeer ok B A0 RR . -l wElllaE] B

17) F624I9a1: FIRYS T96a
1526 995 9T 62899 71894 | AILIIER 40 Q89 T2ULIRIQE
|

2 596 @ag, 9% 6297 A8 || ATCAITER 990 A G2
QAIQE |

3, 4G Q@ | 9e° |l I6LIT6R YER 2aa F2KIR AIE |
4, 98 g9 209 6068 @ eI A8 FIF |

JoRIR 629 ANAER 687 QIOTFQ aIFemI ?

C18Q | 49 ARQIQ GF 655 TR AR |

84 Il 10: 20 amea 685 A2EQIQ gl |

som2
N W= b

18) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

All mangoes are fruits.
No fruit is flower
Conclusions:

1) No mango is flower

1) All fruits are mangoes

A
B
c
D

None of the conclusions follow
Only | follows

Both | and Il follows

Only Il follows

—



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

WtsApp/Call- 8596976190

Join Us-

" m wes m m = = R L ey

18) G6R9ISRT: 667 TRAIRQI (1S4 A8g @8 Fd F2IaIeF |
gIdg FUIRYQ F1BR4G A4 6aIR AIFAIG 9GQ UG8 & el
ARIIFEER FEIYR SAOIR GiR 6aHIIRAN | AN Fadg 99
49° GIO6R G9R Gag, FUKIRYQI Fad AU 6RRE ARICEER
2618Q| PR ELAINR| AQEIR! A12Q4Yg O/ QI6Q 29908 /T |
08%Y: Ag 2 9@° TR 6A6T TR IR Q6% |

aad:
1) 69162 2iIg] IR 6% |

1) g 2iI¢] goe T |

A) 62164 G Gad @ 2908 @93 QIF
B) gaaq | 8904 aog

C) aua | 9e° 1| 29208 @9

D) eaaa Il 29908 @08

19) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

Some receivers are Sensors.

All the transmitters are sensors.
All the amplifiers are receivers.
Conclusions:

1) No amplifier is sensor.

Il) All the receivers are amplifiers.

Ill) All the sensors are transmitters.

A) Both conclusions Il and lll follows
B) None of the conclusions follow
C) Both conclusions | and Il follows
D) Only conclusion 1l follows

19) FERIART: 6 TR 1B 08 78 Fd TAARE |
IgEg TRUNIRAQN 1Y ISy 6Q1R FIFRIg 9Ee UGG § el
ARIGEIES SR G201 &% cedliIRe | A0S Fadg aeg
8° 01060 96 Fag, G2IKRge Fad AUg 6986 AUINSIER
4121 SIS ARATT KIS 184G OF QIS AGAE FQF |
1894 G8 90 6208 62549 | 99 FIRFCR 69eE 62749, |
a9 AIFTINe 6208 Qdeq |

fad
) 67183 AHRTINR 6ATAQ G6% |
1) ag Qde6 62088 AR |

1) 49 6954Q o 62ad gIQAea |

A) a0 dad Il 9e° Il 29908 g |
B) 6qled Fad agaes aog AIg|

C) aew fad 1 9e° 11 29908 @98 |
D) sner Qad |l 2G04 @ag |

20) A can do awork in 12 days and Bcan do it in 15 days.
If they work on it together for 6 days, then what part of the
work is left?

A) 1115
B) 1/12
C) 1/10
D) 1/6

20) A 691G QIO 12 GR6Q @RAIRR Y9° B 692 @K @0Qlg
QIGe 15 @8 | 98 6716 F4d @A 6 G0 QN RRES GIETER |
6REE KIF 9F AGQ ?

A) 1/15
B) 1/12
C) 1110
D) 1/6
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Section 4 - Paperl-Teaching Aptitude

Techofworld.In

21) In context to classroom management, what is Echo
techmque’>

A) Specific statements which need to be emphasized
spoken louder than normal pitch

B) The teacher speaks louder than nomal so that
students understand better

C) The teacher reads a text and students repeat it over
and over again to keep everyone engaged

D) One student speaks loudly so that entire class is able
to listen to the words clearly

21) 656192 IRGIRAI ARNER, AER| 65T A6 26T ?

A) 3R9 QIR AIRIY G4 6271 YR FRIG ARIAE OIQ 2R
671060 @8R

B) d8@ QRIad 0IQ 2P 6RIN6R 9968 AITIFIRI FQUENAES
om QIR 98 ARER

C) 899 99 6ndl 9@6e ¥9° Foudinie 12Ig QR 9§
AT S AYER

D) @64 dQuIg 960 681060 @EQ 60 YAl 6541 99957 am
QU G4 AIQAS

22) Cognitive Learmning Theory implies that the different

processes concerning learning can be explained by
analyzing first

A) the emotional process
B) the social process

C) the behavioural process
D) the mental process

22) SRV 96 N2 Q1 6Q OIRAN 64 FVGG 69 TR
959Iq 9269 @6 6488 @8 g3l AIRARS ?

A) QIge gaal

B) anide ggal
C) qyeem g&e
D) aieda g@al

23) As per Howard Gardner's theory of multiple
intelligences, which among the following options is FALSE
with reference to characteristics of individuals with
Interpersonal Intelligence?

A) People who are good at analyzing their own strengths
and weaknesses

B) People who understand and easily interact with others
C) People who are good at managing relationships
D) People who are good at resolving conflict in groups

23) 2K Q GIEERR TR 269a RIS @ JFIe AQUES
QLRAGRIN REEREEY 2RI DT F6ITQ AH 6] FINYS
AR 67F 3T PR 2667

A) 609 6RIR FII6R PSR &3 B QIRTI § F6ATE FEFICR AT
B) 60@ 601@ F1I68 9¢& 8 AR QINEQR 2G4 AT R2QIR A6E
C) 609 6RIR FI6R UMD IR QYUIGG

D) 60Q emia €66 AFe 6Q AAY § AARIF R A\
216@

24) If you are a teacher of ninth standard, and should

focus on the the study of child development, you would
focus on the literature related to

A) Preschool period
B) Middle childhood
C) Prenatal period
D) Adolescent period

24) 98 2194 999 69419 G968 FIF, 6 FgQ FRIER 2RIAD

QU6R N 6RES 091 ZINER, ZIE 609 AWae ATY QU6
IR 69697

A) am aqy

B) cue 6daciaql
C) 9g 9% &y
D) @cdiq 21Qyy

~ i 1 1
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25) Which of the following methods is Student-Centered
and has a High-Tech Approach towards learning?

A) Personalized Learning Method
B) Direct Instruction Method

C) Flipped Classroom Model

D) Kinesthetic Learning Model

25) BRI IR 60@ G 818 AIeT i 650 265 8 Sl
g6 Qe 66afe ga 93614 267

A) 4340 dal G2

B) gega Gead &

C) G 126 A6ea

D) Qiaseasata Sl f6em

26) In Force field analysis, when the proposed change is
to incorporate student-centered learning, which of the
following is the favouring force, if the restraining force is,
'The national syllabus prescribes what the students must
learn'?

A) Student centered learning better accommodates the
students who are at different levels of understanding

B) Students acquire planning and decision making skills
as they participate in student-centered learning

C) Students learn to take the responsibility of their own
learning and thus gain the skills to become lifelong
learners

D) Students tend to help each other and learn to work
together

26) 6% 686 F64AE6Q, FAUIEN-6FGR JVICR 6A6T6R6R 66T
geiRe afeeny fig QaldN, 93 ekl KA 68 6968
FQUIEIFIER 98 TEQI ULER QIGIA AICIGH FITIQ ARUAE
6ORANT, 636 AR QAR 93 FYFUQ 6QRG?

A) Joyig 691Rw S8 QNITFIRG IR IER 06 R BN
QU6S QYA

B) Gaudicuee QQudi-6age ddea 2°aged K@l gial
6QIRQl B 598 69910 OF0! 29e fadlIRIE

C) Geuieiiniee 6qriea Ge daIa QIdQ 24 KE6e QI FIal
627167 F19RAIR FHIR TVF 2SS RAATES

D) Qauidiles 0eQaq ARl @98 6 fadd Q0 adl S

27) When a student is facing problems in writing properly,
the situation is called

A) Dyslexia

B) Dysphasia
C) Dysgraphia
D) Dyscalculia

27) dauga OR @16Q 6my QIgR2IQl 2egig K6 QeI ?

A) Gaeaggl
B) Gaard@al
C) fagidal
D) Gacmg@a

28) Read the following statements and choose the
CORRECT option.

(i) Institutions, which would like to make an improvement
in the accredited status, may apply for Re-assessment,
after a minimum of one year and before three years of
accreditation subject to the fulfilment of other conditions
specified by NAAC from time to time for the purpose.

(i) NAAC will not undertake the accreditation of off-shore
campuses for Universities.

A) (i) is FALSE and (i) is TRUE
B) (i) is TRUE and (ii) is TRUE
C) (i) is TRUE and (ii) is FALSE
D) (i) is FALSE and (ii) is FALSE

28) Gerlm QY 969 99g 99° O] Qag QI8g!

(i) 699, 29VRYER FIFIS F6Q @R FI91E, 627168 AL
AAL6R IRd FI0l G106 AR QRGeS Jod @Rel A8
AQEAINAR AGGE 1RQd 96a ¥e° §hed e gRt JRIIEe
AIR 26T FFAIF6Q

(ii) 4904 G FNIRA AR T6RE6Q 29I IAQA 7@ FFI6%
AQEAIGR P26 FRUIRR QL

A) (em 9e* (i) O]
B) (i)0x 9a" (i) O]
C) ()08 9e® (i) is gm
D) (iygm 9<° (i)gm
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29) Open schools are opened for those people who

A) belong to the elite class and cannot come to school
B) are engaged in job or not able to come to school daily
C) are very busy so cannot come to school

D) don't like to take education seriously

29) 718 SRS 692AIRT IR 69INKIRE, 69RCNER

A) AgIe 6591a 8 Y IR QIF
B) 621610 QIG36Q Q12 283 &%)l 950 Ym 2IAIQ AV @ed
C) 2o4s I8 8 9 2ITAIRER FIF

)

O

Qg Joea AT 72T QIF

30) As per the Right to Education guidelines 2009, SMCs
have been formed to ensure all the basic requirements of
the school. What does SMC stand for in this regard?

A) School Management Committee
B) Secondary to Middle School Committee I e C h
C) Senior Montessori Commission

D) Staff Management Commission

30) 2009 dgIQ QIR b 98 AN YRS AN 6710
2IQGYael gAde @aQl AR 9qead (SMC) g@e eoe
QAULIREYMI| 9E AF6gRI6a 9QITd (SMC) @86m @'§l QEN?

A) am CHIERREAE D10

B) sasaaian ¢ fion qm @AG
C) dRaq F1686IQ1 Q6L

D) qig u6aaera @08
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Section 5 - Paperll-Odia Language

TechoﬂNoHdIn

‘Qdl 2ITTR6R LIANgw 210G 626R |- Q0I6A 694 FaE
G‘Qlﬁlﬁ' ?

A?@

)
B) azan
C) agen
D) gae

32) 692 99 ARIFER 67194 AIFIQ FA 2 GRIN6Y, FI2Ig B8
Qg ?

33) OFI6Q PIRR 8’ 699 {67 — 6RHITE AOTER 69N S
6915l 62108 ?

A) go10
B) agan
C) §o101
D) egei

34) 29919 AdIC VG 6 QIF TIRUIREE | AT ICR
QUQIR 99 T96 @9 |

W

35) FARYS FQ 6066 A 99 521217,

A) QIBlg

)

B) qiqq
C) qaa
D) aaeie

36) ' @9 ' 999 ' ' IRHRT 690 609 Qdq weAIGQR I8
62187

A) @+g+Q
B) g+a+@
C)
D)

QA
Q+Q

37) GRS AIQ 694F ‘G2’ d9a ATHNIGT SR ?

A) dedn
B

Cc

)
) 60GQ1

)Q

D) et

8) ‘AQE)R Qelal - QR5Q 2el @8 ?
A) @8 GQaE<

B
Cc

)
) gl @o@al

) AgRIFIR

D) ageqss adal

39) ' 684Q ' - 12! & geIa F68aY @ IO ?

A) oge gleY
B) a6l Qioq
C) g4 cIoa
D) ag ciee
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B v e s

40) QRIP QTR TREQ AL ALAQ AR 62IR VIR | 6QTES 45) ‘RRIRI0 AGASI- QRS 2 @4 ?

IR A0R AR Q& 629 ?
A) saIgl K10
A) QHoHREBHIIHR B) aqlemiq
B) G+o+a+e C) @l aga @l0
C) Q+@+o+a+a+q D) gami G8al
D) +Q+@+2+Q
41) 28 5906m 6R9L 561 | 609G 908 609 06T QUGS
62IRE ?
A) 2Qua
B) Gail S6688
o) s [ echofworld.In
D) Geage

o8 @al |

44) FIRYS OUQ 69AT ‘TIGT F9Q FAAG SR ?

A) goret
B) g
C) 2Qie1
D) @@o
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46) Three angles of a quadrilateral are 65°, 92° and 132°.

Its fourth angle in degrees is

A) 82
B) 78
C) 80
D) 71

46) I 99EIFIA 6884 OF 62K §e9 657, 92° 8 132° 263
391 69 921 952 62K 2691

47) What is the greatest number which when divides 1128
and 721, leaves the remainders 6 and 7 respectively?

A) 232
B) 305
C) 125
D) 102

47) Qeel Q¢4 Qigl 1128 ¥e° 721q @id @Eh @itedd
LRIPEF 6 49° 7 QER?

A) 232
B) 305
C) 125
D) 102

48) Which of the following fractions has the greatest
value?

A) 9/10

B) 13/16
C) 67/80
D) 27/40

48) FIRYS AI°E FRIQ FILIQ FRY ATRIA?

A) 9/10

B) 13/16
C) 67/80
D) 27/40

49) If (x+ 4)?—(x— 2)% =0, then the value of 'X equals to

49) Q@ (x+ 4)-(x- 2)? =0, 6061 X' @ TR AAIR

A) (-3)
B) (1)
C) ¢-4)
D) (-2)

50) |f6\.="1')'=32 and\.+\'+3=9

Vii+ y24 22 =

’ then

A) V29
B) 5v3
C) V3
D) 5

50) @5 6X =4 =3z o

X+y+z2=9, qregea VX + ¥+ 28 =

A) V29
B) 5v3
C)v3
D) 5
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51) If 0.7(0.2x = 1) = 0.3(3 = 0.2x), then the value of 'x

> 5 E L
squas o 53) & 10 ¥ =X : 2.5 greaem x =
A) 7
B) 6 A) 5
Cc)8 B) 25
Dy2 C)35
D) 45
51) 9§ 0.7(0.2x - 1) = 0.3(3 - 0.2x), 6968 X' Q G4 QAR
A) 7 54) If there are 1024 elements in the power set of B, then
how many elements will be there in set B?
B) 6
C)s A) 10
B) 9
D)9 C) 12
D)8
52) The square root of 0.1 is
54) 9% B @ 91916 6996@ 1024 G RQIQIe 28e, 6669 646 B
A) 0.3 66 626015 RTIIR 26]7
B) 0.01
C)0.1 A) 10
D) 0.33 B) 9
C) 12
52) -1 g adine 6cad D)8
A) 0.3
B) 0.01
C)oa
D)0.33
1 14 1 B D C
53) f 10 . ¥ = X : 25 then x = In the given figure, AD is the bisector of BAC, AB =6 cm,
’ ’ AC =5cm, BD =3 cm and ADB=90°. Find DC.
A) 5
B) 2.5 A) 3.5cm
£):3:5 B) 11.3cm
D) 4.5 C)4cm
D) 2.5¢cm
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T Ty

B D C

QAIQIRe)l 986 BAC @ imsaqe AD 269, AB = 6 6241, AC
=569, BD = 3 646 6 ADB=90" 2651 DC 2 G5 992!

A) 3567
B) 11.3 6ad
C) 4 sad

D) 2.5 6afi

56) A circle passes through the points (3,7) and (5,5). If

the centre lies on the line x-4y=1, then the equation of the
circle is

A) (x+3)*(y+1)=10
B) x*+y?=10

C) (x+3)%+(y+1)?=15
D) (x+3)2+(y+1)2=100

56) 4@ 9@ (3,7) 8 (5,5) Qg 6@ AR 62IRANMI 9T 6% x-
dy=1 QE6Q Q22,6969 9R A ARG 68% |

A) (x+3)2+(y+1)*=10

B) x2+y?=10

C) (x+3)2+(y+1)%=15

D) (x+3)2+(y+1)?=100

57) 76 is divided into four parts proportional to 8, 5, 4, 2.
If 'x' is the mean proportional of first and the last parts and
'y is the average of second and the third parts then x . y

is
A)1:2
B)8:9
C)9:8
D)3:4

57) 769 8,5, 4, 2 Q2 AAI99I5 QIR6R 913 QIGl QAUGIRI G& ‘X'
gaC1 I9° 69T &°6 C12I6Q AICARR AFAIS T4 IL° 'y §LIR 1Q°
99¢l 2°8 FIL6R 2CTBR AGUIS §I 6969 X 1 y 6207

A

O @

)1:2
)8:9
)o:8
}3:4

=]

58)IfFA={1,2 3,4}, B={2,4,6,8}and C={3, 4,5, 6}
are subsets of the universal setU ={1,2,3,.. ., 10}, then
A"U (BN C)isequal to

A) {4,5,6,7,8,9,10}

B) {3456}
C){1.2,3,4,56,7,89,10}
D) {2,4,6,8]

58)Q@A={1,234,B={2,4,6,88C={(3,4,5 6}62a8

geedimeas U={1,2 3,...,10}a @U6as, 6669 A" U (B N
C) aqie

A) {45,6,7,89,10}

B) (34,56
C){12,3456789,10}
D) {2,4,6,8]

59) Asha bought 20 litres of milk at the rate of Rs. 30 per
litre. She got it churned after spending Rs. 40 and got 5
kg of cream and 20 litres of toned milk. If she sold the

cream at Rs. 100 per kg and toned milk at 15 per litre, her
profit percent is

A) 40%
B) 10%
C) 50%
D) 25%
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59) 2§l Mo I8l Rs. 30 @a6Q 20M6Q 99 @diem| 64 1LIg
Rs. 40 8% @3 69IRIQ91 U6Q 5 60F A I9° 9 060G 691] 99

AIREN| K& 64 AaQ 6a% J2I Rs. 10061 9e° 997 AT dL
1560 97 @98 6069 CIFq NIV JOIIS 6208

A) 40%
B) 10%
C) 50%
D) 25%

60) A book was sold for Rs. 60 with a profit of 20%. If it

were sold for Rs. 52, the percentage of profit or loss would
have been

60) 695 @& Rs. 60 QIFER 22% RILVEA A9A QAU DG

4@l Rs. 526 GF 621998 6969 MR @ [T RIS
6IR2lI

A) 5%
B) 4%
C) 15%
D) 10%
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61) Which of the following instruments is used to measure
earthquakes?

A) Bolometer
B) Seismometer
C) Thermometer
D) Barometer

61) Fedlia AR 6Rw RARAE Yied AT AR MR
QRUIN?

A) cRlsRIfioq
B) saeqifica
C) asdiFica
D) qleaifica

62) Who among the following advocated the Gram
Swaraj?

A) Pandit Nehru

B) Dr. B.R. Ambedkar
C) Rajendra Prasad
D) Mahatma Gandhi

62) F6QIRAIRE FUQ &4 gIF IRFIQ ATIQ?

A) 080 6299
B

C) qleeg gaI@

)
) @. Q.21 Alegeaa
)
D) aeiql Qi

63) Which of the following Government of India Acts had
major influence on drafting the Indian Constitution?

A
B
cC
D

Government of India Act, 1938
Government of India Act, 1935
Government of India Act, 1930
Government of India Act, 1940

—_— e e

63) F6rB YR 694 TRLEAS AT RS2 2GR VRS ARIF
Qa6as 9goen gergd gale adeymr

A) 1938

)
B) 1935
C)
D)

1930
1940

64) Which of the following is a geologic time scale used in

understanding the history of Earth and the evolution of
life?

64) IR FBLA 9 19 98 9T9 AR FEAIB FAQ 69Q
ERIETIRD AAAAIIR MRLIQ AAUAN?

A) 2icmie od
e
Q

oy}

A

O

)
)
)
)

Q
9)

d

65) Who among the following viceroys declared India had
joined the Second World War in 1939 without consulting
the Congress?

A) Celement Atlee
B) John Simon

C) Strafford Cripps
D) Lord Linlithgow

65) 36912 FIQ 60% VRAXI F°6CFYAR AAIFE @ 68R . CNCER
QA §O10 TYLFER 6LNIG 697 6QIR 6T GTej6m?

A) Gera 21
B) og Qlenq
C) aisarie @4

D) ag AGaeesl
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66) According to Koeppen's Climatic Classification which
letter best represents dry climate?

m >

Q
mWo>ro

)
)
)
)

=)

66) 6R160A% FRQIY SRS 2GR, 699
VAR AAIPE VIER YT FRQIG QAIReN?

67) Who among the following was one of the Nine Jewels

or Navaratnas appointed as finance minister during
Akbar's rule?

A) Todar Mal

B) Man Singh
C) Miyan Tansen
D) Birbal

67) AR9ew 9195 AKER FEFIRAINT FUQ @9 Fe0ew F1RIQ
@4 364 gom DR 2NR VIFER TS 6TIRGEN?

A) 601gQ AR
B) qig de
) {2l QIe6aq
) Saem

Cc

o

68) As per the India State of Forest Report (ISFR) 2017,

which of the following states of India has the largest forest
cover in terms of area?

A) Uttar Pradesh
B) Madhya Pradesh
C) Kerala

D) Tamil Nadu

Tﬁf'\l"\f\'F\AlI‘\l"'Iﬁl IP'\

echofworld.In

68) QI0G12 91693% 2adY G6aIE 2017 ( 2RNIQIT 2IQ)
AR, FIRYS QIRIFIRE F1XQ cISTR
2GA6R, 670 AIFIER ATRID UAIER AFF ?

A) aa9 g6ad
B) a gsa4
C) eqaq

D) efiaeig

69) Annie Besant launched the Home Rule Movement
along with

A) Motilal Nehru

B) Subhas Chandra Bose

C) Mohandas Karamchand Gandhi
D) Bal Gangadhar Tilak

69) IR 69413 & A2 6217 QR 2CRIFS QA FRLER

A) 6AITRIN 6999

B) qeua 05 6919

C) 60120914 @aA0IR GIFT
D) qin 9atae Gaa

70) Who among the following personalities addresses
both houses of Parliament at the commencement of the
first session after each general election to the Lok Sabha?

A) Prime Minister
B) Vice President
C) President
D) Governor

70) F6RAINET FRIQ @ G604 ARINE RPN T6Q 6RIFIARIA
JeIR 2REVEFER A°UIR QAR FLG QFEINYT K9E?

A) galigaa
B) eg-a1gad
C) asad

)

D) quguaim

WtsApp/Call- 8596976190
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71) Constitution of India provides for reservation of seats

in Panchayats for scheduled castes and scheduled tribes
through

A) Article 330 A
B) Article 253 T
C) Article 243 D
D) Article 332 C

71) QORI ARG TBILG FEREa AFJTe QIT 9e° eaeld
P62 29 L8l 2119l 60 gIIR 908

A) qmo g
B) 980 &
C)oxn@
D) qn9g

72) If the time of a place is five and half hours ahead of

GMT (Greenwich Mean Time), then what is the longitude
of the place?

A) 82.5° W of GMT
B) 85.5° W of GMT
C) 82.5° E of GMT
D) 85.5° E of GMT

72) g9 6216 YIRQ A% §.99.F (IR QFIEl ANQ) OIR QISR
alE A4l 2192 2 606Q 698 AIFR QI 626 629 ?

A) G6a 825 @glafing
B) G40 .6a 855 &gl afing
C) 84 fa825 @g19eq
D) 8.4q.§@ 855 891999

73) Nagercoil and Jaisalmer are known for the extensive
use of which forms of energy?

A) Geothermal energy
B) Nuclear energy

C) Solar energy

D) Wind energy

73) Q16910 6QI62R 8 6FAIR 6718 LR VITEA 60Q 63 UL
QoI ?

A) 9 G108 ¢a
B) z1603e a8
C) 6da 63
D) aeg 3

74) Who among the following personalities introduced the
Chishti Silsila in India?

A) Khwaja Muin-ud-Din
B) Auliya

C) Baba Farid

D) Al-Hujwari

74) Q6A1BAIRE FUQ @4 QGGER 73 IAI IR @RLEA?

A) QIR R9-89-6]
B) aig@al

C) QeI ooq

D) 2m-ge@a

75) Where is the Tropic of Cancer located?

A) 23.5° E of the Equator
B) 23.5° S of the Equator
C) 23.5° W of the Equator
D) 23.5° N of the Equator

75) G00g@ 68R0I6Q 29de ?

A) 399 6a%IR 23.5 @91 9I6a

B) g9 6qdia 23.5 Gg1 @f46a

C) 3ge 6a4lIa 23.5 @91 Afa6a
e

)
)
)
D) g9 6adia 23.5 691 2@06a
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76) Awire can sustain the weight of 30 kg before breaking.

If the wire is cut into two equal parts, each part can sustain
a weight of

A) 60 kg
B) 30 kg
C) 10 kg
D) 90 kg

76) 4@ 016 881 99 30 kg 664 AT AI6Q | AF 62T QI6FG

92 AR APEA RT FUIAN, YE0IR RGT 6R60 BRG AR
aQe ?

77) A spring gun of spring constant 90 N/cm is
compressed 12 cm by a ball mass 16 g. If the trigger is
pulled the velocity of the ball is

A) 40 m/s

B) 50 m/s

C)90 m/s
)

D) B0 m/s

77) 90 N/cm @ Qe 2Ql 9@ Gef 69q 16 gl 92@ 8548 1@
QR 919l 126961 9500 @AUTRII 9& TEIQ SEIKN 666 SRa
Q°6Q6l 6208

A) 40 m/s
B) 50 m/s
C) 90 m/s

)
)
)
D) 60 m/s

78) Two temperature scales A and B are related by (A -

42)/110 = (B - 72)/220. At which temperature do the two
scales have the same reading?

A) 40
B) 42
Cy72
D) 12

78) Q96 S008I 6aR A 49° B (A - 42)/110 = (B - 72)/220
FI0l AHEG | 69Q SITIAIZIER 9ATAIR 6IMER AFIR FE° 0@ ?

A) 40
B) 42
C) 72
D) 12

79) Abnormal development in the size of infected tissues

in a diseased plant due to increase in the cell size is
known as

A) Dwarfing
B) Puckering
C) Russeting
D) Hypertrophy

79) 621@ 2R 9GQ AR 6AYFIY ANNEA AGHG
§9g@aa IRIa 29INEa RIEQ AEQ QR QLIAN?

A) Qe
B) aeder
C) asader

D) eiqaesgid
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80) Match the following components of a cell in List -| with

‘ . . B) arsaiae g&@al
their corresponding approximate percentage of the total

cellular mass in List-Il. C) Geg 9ogwl

List | List-I D) gemaé g&ql
(3) Water (i) 3%
(o) Proteins i) 57

82) Read the following statements and choose the
CORRECT option.

(c) Carboydrates ) 70-90% (i) The region of the stem of a plant where leaves are born

are called nodes.

(d) Nucleicacids ~~ |(iv) 10-15%

(iThe portion between two nodes of a plant is usually
known as internode.

A) (a)-(iv), (b)-(iii),(c)-(i), (d)-(ii)

B) (a)-(ii), (b)-(i), (c)-(iv), (d)-(iii) A) (i) is TRUE and (ii) is TRUE

C) (a)-(iii), (b)-(iv), (¢)-(i), (d)-ii) B) (i) is FALSE and (ii) is TRUE

D) (a)(iii), (b)(ii), (€)-(iv), (d)-(i) C) (i) is FALSE and (ii) is FALSE
D) (i) is TRUE and (ii) is FALSE

80) GC6Q SRR -1 66 9N IR 6RIFQ AUFIFYER PIRA-I| 6Q
2Rl 67119 6R18 BRAQ YALIR OI6 ATL 6617 AAUS |

sl aa il 82) 0] R99@e 0eg 8 ale Gag 0Ue 9g |
(a) 8129 i) 3% (i) 9@ QEEQ QI8 UG 6KL0IEE U9 FLTIRAN QLG 6919
(b) 695G (ii) 5-7% L &
(c)6E6dIR (iii) 70-90% (iR QG0 AT 651K 1216 QI FIFg QLAERIR QRIAN |
(d) Q4ARR QAL |(iv) 10-15%
A) (i) 62a8 09 G (i) 6998 0@
A) ()-(iv), (b)-(iii).(c)-(i), (d)-(ii) B) (i) 6268 @a G (i) 6268 0%
B) (a)-(ii), (b)-(i). (c)-(iv). (d)-iii) C) (i) 6208 o 6 (i) 6208 e
C) (a)-(ii), (b)-(iv). (c)-(i). (d)-(ii) D) (i) 6208 0= G (i) 6908 g
D) (a)-(iii), (b)-(ii), (c)-(iv), (d)-(i)

83) Clostridium perfringens is an example of which
microorganism?

81) Reactions in which oxidation and reduction occurs

: A) Protozoa

simultaneously are known as )
B) Virus

A) Decomposition reactions C) Fungi _

B) Combination reactions D) Bacteria

C) Redox reactions - — -

D) Condensation reactions 83) 69RLHN IATEER 696 UK1RQ IR AIL0E?
A) 6giecieaell

81) 699 JGGI6R 20D UFERAR 6 BT 1@ QAR 9 B) aigag

?
QIRIQ @8 RIKN’ Biees
_ D _
A) 2aase goael ) Queq5e
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84) Where does the condensation of protein granules
usually take place in a plant cell?

A) Ribosomes

B) Endoplasmic reticulum
C) Golgi complex

D) Nucleus

84) 9 QEQ 6RITER ARIQEIGS 69Q AR 696R RERIGERR
PARR 6L1R2IN?

A) QIRBRIER I

Cc

)
B) saqefia 605qaa
) IRG K68

)

D) qugeia

85) When dilute hydrochloric acid is added to iron fillings
which of the following is produced?

A) Hydrogen gas and iron chloride

B) Carbon dioxide gas and iron chloride
C) Sulphur dioxide gas and iron chloride
D) Oxygen gas and iron chloride

85) 6060696R Gafige 2IRERIEQI0e aF) @ IR0 Tmerea
ARIAN 6969 @8 9T §9?

A) QERIR QUIQ 6 LIRSS ARG

B) 2izrioqie), aud 6 20 6319108

C) qRTa QIRZIFIRG SN & ZIR9R 6QIQIRG
D) aqeie ovia 6 6qeiee 98 €9

86) The extension in a string obeying Hooke's law is x.
The speed of sound in the stretched string is v. If the

extension in the string is increased to 9x, the speed of
sound will be

WtsApp/Call- 8596976190

86) 9w QO¢ FIR2Ql 98 CIR6Q ARAIRE 6208 x | JARe
Qlass JFR 696 6268 v | 98§ CIRa ARSI Ix *GG2IAN,
606Q 4PQ 66! 6966 68Q7

A) v/9
B) v/3
C)3v
D)ov

87) A particle is projected with an initial velocity of 200 m/s
in a direction which makes an angle of 30° with the
vertical. The horizontal distance travelled by the particle in

3sis

A) 300 m
B) 200 m
C)400m
D) 100 m

87) 6915 @dialg 691G @a6a 200 m/s 6Q6REa JIedq
J8690ER 6TIIRICIN DRI QR 926 30° 6914 @QE | 3s 6Q
g @8I 6960 99 &7

A) 300 m
B) 200 m
C)400m
D) 100 m

88) Read the following statements and choose the
CORRECT option.

(i) A gamete is formed during sexual reproduction in
microorganisms.

(i) The gametes of male organisms are called ova.

A) (i) is TRUE and (ji) is TRUE
B) (i) is FALSE and (ii) is FALSE
) (i) is TRUE and (ji) is FALSE
) (i) is FALSE and (ii) is TRUE

Cc
D

S Techofworld.In
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88) &) ARYER GG G A0 9B PAR A9G | 90) 49 Q) I 2 696 SEITRI 6Q6R, YLIQ B30 93 U| of
(i) IV96Q GRAR ATV6Q IR 6966 G/ 6LIR2IN | 43 3619 10 606 S€ITQ 6069 126R 2al 8 98 629
(i) 998 199 69¢15Y BRI QRIKIN |

A) 10U

B) uss

) 6968 O G (i) 6298 0@ C) 25U
) 6268 gn G (i) 6298 9 D)s

)
)

) 6298 O G (i) 6268 ga
i)

89) The microorganisms which convert the dead plants
and animals to humus are known as

A) Decomposers
B) Pesticides

C) Autotrophs

D) Parasites

89) JRWIQ KUY €6 Q@ 8 gEKING gIIAH UAES KR
6AGER K8 QRILIN?

A) GasHiaq
B) c08aine
C) zeclegier
D) aquQiag

90) When a long spring is stretched by 2 cm, its potential

energy is U. If the spring is stretched by 10 cm, the I h f |d I
potential energy stored in it will be e C O WO r " n
A) 10U

B) U/5

C) 25U
D) 5U
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Question Paper No: 53664 98

Answer Key

I. D 31.C 61.B
3. C 32.C 62.D
3. C 33.A 63.B
4. B 34. A 64.B
5. A 35.A 65.D
6. D 36. A 66. D
7. B 37.C 67. A
8. C 38.B 68.B
9. A 39.C 69.D
10. A 40. A 70. C
11.D 41.B 71.C Te
12.B 42.C 72.C
13.D 43.D 73.D
14.D 44. A 74. A
15.B 45.D 75.D
16. A 46.D 76. B
17. A 47.D 77.C
18. B 48. A 78. D
19.B 49.B 79. D
20. C 50. A 80. C
21.C 51.C 81.C
22.D 52.A 82. A
23.A 53.A 83.D
24.D 54. A 84.C
25.A 55.D 85. A
26. B 56./0986%€
27.C 57.B 87. A
28.B 58. A 88.C
29.B 59.D 89. A
30. A 60. B 90. C
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